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Time : 1% Hours | [ Maximum Marks : 100
Section-A (Marks : 2 x 10 = 20)
Note .— Answer all fen questions (Answer limit 50 words). Each question carries

Note —

e -

2 marks.

(TUE—3) (3w : 2 x 10 = 20)
T I YAl & S SN (SW-GH 50 TI) | TAF YA 2 37 Hl g
Section-B (Marks : 7 x 5 = 35)

Answer all five questions. Each question has internal choice (Answer limit
200 words). Each question carries 7 marks.

(Tug-9) (3w : 7 x 5 = 35)
Tl °ifer YTl & SW SIS YAE Y9 H faeq o 9o wifey (SW-Hm
200 <) | TAF Y9 7 37% H B

Section—C (Marks : 15 x 3 = 45)

Answer any three questions out of five (Answer limit 500 words). Each
question carries 15 marks.

(@us—™) (3T : 15 x 3 = 45)
g | 9 fe=l 99 991 & SW SIfST (SW-9H 500 3s2) | Y& G 15 3F
El A
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Section-A
(@us-2))

1. Answer all ten questions (Answer limit 50 words).
gt | gl & IW SIS (IW-HH 50 =) |
(1) Economic Development

sfefer forhrd
(i1))  Import Substitution
S IRIIEIRIIEE]
(ii1) Limitations of Solow Model
Hrell Afed w1 HHE
(iv) Main merits of Ricardo’s Growth Model
Reprel & fosm fg< & q&a qu

(v)  Objectives of Planning

s & 3T

(vi) Financial Resources
[ENIRESEIEE

(vii) Foreign Exchange
facelt fafma

(viii) Input-output Coefficient
A~ ffa e

(ix) Gadgil Formula
MERTA Hhiga

(x)  Disguised Unemployment
fiodt &€ SRS
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Section-B

(@us—a) 7x5=35
Answer all five questions. Each question has internal choice (Answer limit
200 words).

ot ufer 9w & S Ul A% YvT B fashed w1 99 #ifSu (SW-giE
200 I1=3) |

2. Explain the role of Information Technology in Development.
o ® =1 UrEifTen i ot HemET
Or
(3727
Explain the role of education in Human Capital Formation.
g gsit fmfo | foren &1 yfte awemEn
3.  Write a short note on the Marxian Model of Economic Growth.
s gfg & AeRdarEl Afed W T diga feoquft fafeaw |
Or
(3727
Write a short note on Solow’s Model of Long-run Growth.
el & SreehleiM fohe Afgd T T giee fewqof fofea |
4. Explain Two-gap Model.
fg-siaua Aied & HemET |
Or
(3727
Explain Balanced Growth Model.
Gdfed dgfg Afed =l qHAET|
5. Examine the role of Accounting Prices in Project Selection.

IRATSHT & =99 # i@l hiFdl i YfHeT &1 J0e Hife |
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Or
(3127
Explain Cost-Benefit Analysis in brief.
ATd-y fagerso 1 G saren it |

6. Explain role of National Institution for Transforming India (NITI) in present

scenario.
aAE IRde | Aifd SR H iR Fl FHESET
Or
(3727

Explain Poverty and Inequality in India.
YRd § el TE AT HHET |

Section—-C

(Tus-H) 15%3=45
Answer any three questions out of five (Answer limit 500 words).

oig ° 9 fe=l 9 9wl & W Sifu (SW-9H 500 v |

7. What are the major growth factors according to Denison ? Examine them
critically.

S & IR fae™m & & 9ed Y § 2 AR STAEE S U0 Hifad |
8. Discuss the knife edge equilibrium of Harrod—Domar Growth Model.
Rie-Sm & gf Hca & TR GqeH % a1
9. Explain critically the Mahalanobis four Sector Model.

TRIEHITd & IR &F Agd & ATcads Al Hifd |

10. What is Capital-Output Ratio ? Explain its determining factors and also its
importance in development planning.

Yoi-ScIg UM 1§ ? 39 Ui axal #1 9 wifed Td fae s | sue
e & o gHSET |

11. “The slow economic development of Rajasthan is due to its weak infrastructure.”

Explain this statement and give your suggestions.

‘TS & i TG & s faehr 1 SR SHEl HHSIR SAURYd @l §1”7 39 Hd
F A HIfC R 39 g i |
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